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GENERAL INSTRUCTIONS TO THE EXAMINEES:

1. et FdueE e yTus W A Sffarid: ford |

Candidate must write first his / her Roll No. on the question paper compulsorily.

2. qfl geq o erfyard €
All the questions are compulsory.

3. g% e HI IR &l T$ SR GRAdT H & ford |

Write the answer to each question in the given answer-book only.
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4. RO el # oaR® @ve €, 99 9l & IR Udh 1T & ford |
For questions having more than one part, the answers to those parts are to be written together in

continuity.

5, e U3 & 2 9 Sl wuidk # fhfl yeR @1 Ffe /iR / faxem e 89 R R Wi & ueA
B2 FE A |

If there is any error / difference / contradiction in Hindi and English versions of the question paper,

the question of Hindi version should be treated valid.

6. ged &A1 3dh gD U IR DI Tea AT
1—6 1 20 Rsq
7—14 2 40 9sq
15—24 3 100 Rsq
25—29 4 150 Rsq
Q. No. Marks per Question Word limit of answer
1-6 1 20 words
7-14 2 40 words
15-24 3 100 words
25-29 4 150 words
7. Ue HRT 30 AFE SR ¥ Hafdd 8 iR 4 3fd P 7
Question No. 30 is releted to map—work carrying 4 marks.
8. U AT 15 W 17 § ¥ fHE QT BT SR AT © | U G 18 T 25 H 29 dF H IARD
fawed 2|
Two question are to be answered from Q. No.15 to17. There are internal choices in Q.Nos 18 and
25 to 29.
9. T T 31 QT AT H, 7 3 HT 2 |

Question No. 31 has two parts of 7 marks.
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91. I8 fouq ®er o & g9 99 IR fiRdiar &1 SurasT 78] axd dfed FHIST § hifd ared & |
Who says “we did not wish to glorify the cult of the bomb and pistol but wanted a revolution in
society.” (1)

g2 &g emas yomeh # @fad @ aRer waffde gRféa = 2°
In which form of government, ‘dignity of individual’ is best protected? (1)

3.  ufd afed oma &1 aread fIlkau |

Write the meaning of per capita income. (1)

U4, fdpe & Sred gg Big &l Fegadl avqy faRkay |

Write any two intermediate goods for the production of biscuits. (1)
us  faer @ 27
What is investment? (1)

U6 QUG e AfRIH 1986 BT T AF AT 57

What is the alternative name of Consumer Protection Act 19867? (1)
97. YA Yae 69 3R fHa—fhT & Az gan?
When and between Whom Poona Pact signed? (1+1=2)

U8,  Ad GV fAET & 3BT v 3wy 87

What is meant by sustainable development? 2)
99.  Plell HaT @l bl o faRivyari faRay |
Give any two characteristics of black soil. (1+1=2)

10. HhcURd 99 Siig Uollfeal & &1 A9 ddrsy |

Give any two name of endangred species. 2)

A1, ORI & EYh UG B &A1 § a9l Sl FUEl b UhR fHar S 2 |

Explain which way Rain Water Harvesting is carried out in Arid and Semi Arid region of Rajasthan.

@
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U.12.

U.13.

U.14.

Y.15.

Y.16.

U.17.

9.18.

IRA H AFd B H & g AiTifeld el o1 Iooid I |
Describe the Geographical conditions for Rice production in India. 2

fafegtor SevT @ 98 &1 9d8Y |

Describe the importance of Manufacturing Industries. 2

Ash URTET &I SUIIAAT BT W BT |

Describe the utility of Road Transportation. 2

AT 9T HEIT 15 | 17 4 | o= 31 geal’ @ SR Afeg

Note- Attempt any two questions from Q. No. 15 to 17.

ST IS RIS W MY FIT FHS 27 39! ] ‘Sfeal dam fh waT Tar 2

What do you mean by “Brettan Woods Conference”? Which are called the twins of it? (14+2=3)

fafeer sl @& SR IRA™ §aR1 BT B TRRIIT BT FHAT BIAT TST?

What problems were faced by Indian weavers due to British industrialisation? (1Y2+1%2=3)

T AP WeX & W H 99 BT [JHN 5 UbR gar?

How did Bombay evolve as a modern city? (3)

face % Irgare &1 e U9 JRIY & o1 H 5 geR = or?

How was the history of nationalism in Britain unlike the rest of Europe? (3)

AIqT

faam gg ¥ MRS I R Wga fhy R RIS SRR iR Yoie 3RS @
R ST |
Introduce the chemical weapons—Napalm and Agent Orange used by American army in Vietnam

War. (1Y2+1%2=3)
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v.10.

Y.20.

U.21.

Y.22.

Y.23.

Y.24.

Y.25.

Y.26.

AT BT ASER] & fhal 9 w4l &7 aoiF B |

Describe any three forms of power sharing.

ARG AlDhdd & TR dIF U gAlfadl a1 fad== sif |
Discuss three maijor challenges before Indian Democracy.

It fAprd & dls dIF e AHSU |

Explain any three goals of economic development.

srefeawert H§ e, fgdiae dor qdiae &al & IRER FvRar & |9Asisy |

Explain the interdependency of primary, secondary and tertiary sector of an economy.

YR H JTIIHROT B BIg oI YT FHSSV |

Explain any three impact of globalisation in India.

doR § ST 39T & Dhig oI UbR FHSMSU |

Explain any three types of consumers exploitation in the market.

qa0T WIHT 1 IRA H gale & b § a1 7eg di?

How did the print culture assist the growth of nationalism in India?

AIqT

UHeS & SR $ IR TS faRyard §arsy |

Write four main features of PremChand’s novels.

IRARIT $off FArdl & 4 forRed, v fhedl v iR org foRay |

Give name of conventional Source of Energy and describe note on any one.

AIqT

Ieile WS & A9 9dTsy, UG fhal I &l g HIfoTY |

Give names of Non-ferrous minerals. Describe any two.

()

(1+1+1=3)

(1+1+1=3)

()

(1+1+1=3)

(1+1+1=3)

@)

(1+1+1+1=4)
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Y.27.

Y.28.

Y.20.

Y.30.

IRA H GRS TS W ST T FES 87 W B |

What do you understand by Secular State in India? Explain. (4)
I qT

ARG WEHTd B SURT & BRI BT fIda S |

Discuss the reasons for the origin of social differences. (4)

TS ABAS B Y /T ARl & A ARON Bl W PIFY |

Explain the various stages of ‘Second Movement for Democracy’ in Nepal. (4)

3TqT

IRA H SIS Sl & IR =g BT U IR Y@ Y1 BT auiF Sy |

Describe four majar efforts to reform the political parties in India . (1+1+1+1=4)

3MID JTAR SNTATRS TAT FFIATRS ARI H DI Al ARG 45 7, A Fl?

In your opinion between formal and informal credit, which one is superior and why? (4)
I qT

3MId FTAR ax fAfrg gormell qen #Aifaes e gomell 3 o A1 yormel! 81 8, der Fil?

In your opinion, between barter system and monetary system, which one is superior and why?  (4)

@) feu v yRd & @7 gEfE § FEiiRad @1 sifed IR ¢

(i) EE]
(i) ¥emgR

(A)  Mark the following in the given outline map of India — (1+1=2)
()  Dandi

(ii) Sholapur
@) fou v 9Ra & @R ¥ fEfeRad o sifed SR

(i) el
(i) =TS
(B)  Mark the following in the given outline map of India - (1+1=2)
()  Delhi
(ii) Chennai
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431, (®) AHdiE IrEd fHA 3T I YUITel! | dEAaR B | TR DI |

“‘Democratic Government is better than any other form of Government”. Explain. (3)

@) () ATdSI G AT BT A dargy |

Give importance of Public Vehicle. (1)
(i) X BT SYANT fIRIy |
Write the use of ramp. (1)

(i) FeF gHeT A Ifdd & fhd AHR HT Iocted g 272

Which right of the individual is violated by Road accident? 2)
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